Semester 2 Review.notebook May 24, 2017

Review

« How is a reaction rate measured?
_Aconcentrikion
« What mus%%g%ur for aucscessful reaction?
colltde, enough entroy | correct orientodion
- What is the activation energy of a reaction?
ey vequired for A vxn to occur
« What is an activated complex?
—aka transitpn ctte

= 0ld londs ave loreaking # new bonds dre Form
- Very uhtuble E ™"

May 17-10:57 AM

Describe, in detail, how each of the following
would affect the rate of a reaction:

« Heating the reaction. .
T, moleules move fasker — pnote collisins

« Crushing the reactants.

’l\,. D surface area, more likely fo have
- Adding a catalyst. COrre A orientatin

T, lowers Activation ey (Ea)
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Calculate the equilibrium constant:

_2NO (g) + 25 (g) < N, (g) + 250 (g)

>
« Calculate K, if lA( EJ;IEHQ'DJ
« [NO] 2 >
! 23500 (no)™[H]™ oF
« [N,]=8.24 107, 3. E o
. [H20]=6.0X3x102 K( C Ay )E 03xI ] 9
(15307 @%xloﬂ"

« Are the reactants or products favored at equilibrium? How do you

know? PT‘OO(W*'? 5]

« The magnitude (value) of K is dependent only on which variable?

femp

May 17-11:00 AM

Answer the following with shift left or shift
right or no change & explain your answer:

CHyy + 20y, <> CO, + 2H20(g)+ heat
3 mb| % mol

Which way will the reaction shift if {8l added?
shift+ right 4 products

Which way if the temperature is raised?

Shif+ leFt, T reactants

Which way if water is removed?

Shifr n?hf 1 pod

Which way i the voEJme is increased?

no chcm?{,
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Rate Laws

« The following experimental data were obtained for
reaction at 250 Ki, + 2 CIQ ----- > 2 FCIO,

[F,] [C1O,] Rate M/s
— (.10 - 0.01 12x10?
0.10 ~ 004 48x 10°
— 020 0.01 48x10°

o Write the rate law for this reaction.

CEAX2 rajexy R=4d x=2

[0 AXY ratey Y=y Y=I
Pake = < [(B]2* ({40}

May 17-11:01 AM

n.<.,

Ksp

Calculate the SO["%%%/ (in mol/L) of barium sulfate. The
solubility product cohstant for barium sulfate is 1.08 x°10

BaS0y (s) g,_Ba’?m ¥ Soq)?ﬂz)
Fep = (BT (D)
Ksp= X*

\S I.oaxlo"":SF‘ E{,\()L[ylo'gmj
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